”,
—— Instruction Manual — M

BA777 & BA777XL -

Customer Service

Heavy Duty Gooseneck Pole with 4’ or 5’ offset (800) 247-7668
PARTS LIST
Item Qty | Description Item Qty | Description
A 1 Backboard Mounting Bracket H 3 5/16” Flange Nut
B 3 4-1/2" Band Clamp I 2 7/16" Flat Washer
C 2 7/16" x 2" Carriage Bolt J 2 7/16" Lock Washer
D 2 3/8" x 1" Hex Bolt K 2 7/16” Hex Nut
E 2 3/8” Flat Washer L 2 Backboard Brace
F 2 3/8” Lock Washer M 2 1/2" Set Screw, Square Head
G 3 5/16" x 2" Carriage Bolt N 2 1/2" Jam Nut

+ Inspect all contentsprior toinstallation. Report any missing partsto dealer immediately.
+ Read all instructions befor e proceeding.

1. Select the location for the concrete base fgotiDig a 12” diameter hole that is 48"deep. Inaare
where the normal frost line is below 36” it is &hble to dig to the normal frost line. (Consulbeal
concrete contractor if there is any question.)

2. Make sure that you have a level and a broomsticgkmilar pole to vibrate air pockets out of caste.
The 12” diameter by 48” deep hole will require apgpmately 3.2 cubic ft. of 3000 PSI concrete (8 to
10 60# bags of premix concrete). You will neeadgust the amount depending on the size of hole you
prepared. Having the proper amount of concreterbgfou start will ensure proper strength of the
footing.

3. Mix concrete according to the directions onlihg. It is advantageous to have the mixture “wEis
will increase your working time and allow batchesnix in the hole. Pour the hole full to ground
level. Attach4-1/2” Band Clamp(B) with 5/16” x 2” Carriage Bolt(G), and5/16” Flange Nut(H) to
bottom end of pole and insert pole into concvétéde vibrating concrete to allow it to surrounckth
pole completely. The pole height from the grotmthe bottom of the bend should be 9’ 6-1/2”. See
Figures 1 and 3.

4. Clean excess concrete from pole. Level the poteallow the footing to cure for seven (7) d&sly
after the concrete has cured for seven days dlyowl proceed.

5. Slide thet-1/2” Band ClampgB) on to the gooseneck portion of the pole. Asdemin and
backboard to thBackboard Mounting Bracké€f\), then attach thBackboard Mounting Bracké¢f)
to the end of the pole with/2” Square Head Set Scre\iid) and1/2" Jam Nut¢N). Make sure that the
rim and backboard are level, tightef2" Jam Nutg¢N). FasterBackboard Braceél) to the backboard
with 7/16” x 2" Carriage Bolts(C), 7/16” Hex NutgK), 7/16” Flat Washerql), 7/16” Lock Washers
(J), and to thd-1/2” Band ClampgB) with 5/16” x 2” Carriage Bolts(G), and5/16” Flange Nuts
(H). See Figures 2 and 3.

Date: 09/10/2014 Rev: 10 B.A. N.J.C. File: Bisonservetsfisher/instructions/BA777 Ref#:0428

Page 1



Figure 1 |

127 Dia.

Figure 3

Figure 2

DXEXF

Use with BA455, BA465,
BA475, BA475W, and
BA4755S Backboards.

Hardware provided with
/ Rim or Backboard

I

9'6 1/2" To ground
(Hold This Dimension)

WARNING!

Tighten Set Screw then

To ensure a perpendicular, & "y ¢ tight 2

Backboard, this pole must
be installed such that this
surface is level when the
concrete has cured.

to tighten Backboard
mounting bracket may
cause serious injury.

BA777 Approx 48"
BA777XL Approx 60"

To Face of Backboard

NOTE:

A 12" diameter x 48" deep hole will require
8 - 10 one-third cubic foot bags of pre-mix
concrete. Actual usage may vary depending
on hole size and shape.

Some bending of Backboard Braces may be
needed for installation.

~— 12" Diameter

places. WARNING! failure

Regulation height: 10'-0"

Band clamﬁ prevents post from
turning In the concrete.

(Reference Only)

Bury 48"

Page 2




